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T o Tieeg aren oniuT yaies afiseeray e faeamoear yyiat
I TE HA. T GYAa I TNIETaN STENRE AT uigata.

Read the following passages and respond to the questions that follow
each passage. Your responses should be based on the passages.

T HAE 145

THSATAT AR TEO] YEREIT Arearasd sTel ey stesql frear 3t g e e
THT YIqd ST ARRTYE Hier! aafiqr STHTEd #1 weal ddie 9@e @rad S0 ot 91 9vEdq
SEEt Fesd, A SHT HO, ST vt oNfr AiEeR R, feet wen-orvn Wegnd! U UEw.

AT AU AT AT qAd HHE OF). SE S ur] WEaav e srivea ek aamwdr aq9
IR, A1 TSI AieATS WIS Fest fHesd ARia. A shifeearsn * stehoren s o s due st
Tl TR, WA= deaiet STV Soee fhal SiTe SRFSrEe! JvaTE U6l B SBfasd cheTi=
FHEHST FHU AN IR FTHE.

1 IR A-1 FHIUAT ool HEIA WISl THTAT. e Wtas Wioh! SFarer ¥94d I5ad
TS, O A WIShT € FHeq WreiehTee! Tedl. TR SHH SHo! wEydd fer 9 fRefss gt
ST WA Jerd @ YUt Ao ST Q% S0 9T 31, SAIfo7 STTean Hieet qaar= Tevm &t
AN, HIFAT 7Y ERES ' TaEs | = W 7avil Uaier feo) ot Svaryai=a1 serdie TR Siaael
BT STHET. € v RS (ST S0 W) W T Sad, Yae i shd w0 awie Ay I
I A FBA T I T F6T Fai 16 fohan 79 faq@ TaER ®E on. ek fHar et
A IS G 0 Thoe! FedeR M. e TIaram qad st ST wEE g S e
DR R e ST T3l STHe sTEvEs B #1 A9 o TeHe T Tweee e, fag
FEfaf9a T e |1 S gHer fadt i, 99 sHE Seen e s Afufoe geeds
faeft Toha R FY. IS AReadrd! STEH ST SHTEtd 3Rl ddhgtedl HAYE 3.

Question number 1 to 5 :

Following the microlith groupings along the hill, one conclusion is unavoidable. These
tools represent the pre - metal and pre - pottery stage when the valley bottom was not cleared of
jungle. With herds of animals considerable food - gathering sporadic cultivation to eke out and
some hunting, they may be called Mesolithic cultures.

Such a population had to shift constantly from place to place. Permanent settlement
could not come before the advent of cheap metal like iron. It is difficult to imagine the use of
iron anywhere in the Deccan, earlier to the Mauryan conquest. The deposits of copper in this
region are uncormnmon. Even the Arthashastra does not speak of iron in this area. The natural
route of the savages before the swampy or forested valleys were opened for cultivation, must
have been along the hillocks.
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The groups that moved along these tracks could not have been numerous. There was no
question of their possessing land, for land - ownership is not a primitive concept. Fixed plots
were meaningless till the plough had conquered the soil. For this, the fertile bottom lands had
to be cleared of forest, which was not possible in our monsoon country without iron tools in
plenty. Land to the savage is territory, not property. In my opinion the still revered
Maharashtrian custom of ‘gamva - sai” dates back to the presettlement days. This used to be the
propitiation (at such date as the Bhagat might set) of all iocal deities, spirits and goblins. The
characteristic feature was that villages used to get deserted as every human being had to leave
the village for seven or nine days. After living in the fields or under trees for the period, and
performing the required worship and blood sacrifices, the inhabitants would return with the
hope of better crops, eradication of diseases and general well - being. The ceremonial return
must be being conceived as resettlement. The fixed cult - spots for pre - agricultural people
would necessarily be where their regular paths crossed, places where they met for - barter
where the communities performed ceremonies or where they celebrated their periodic fertility
cults together. Thus, the crossways were logically the sites for the mother - goddess cults.

1. YEIS I faymien faur .
(a) TEHIHER B AN A A5 FAIA1 SACATE! T .
(b) S I YT FHUG SR AT § oG B A0 @07 § T FE 3hosd 2.
i I
(1) T2 SUEF (b) T (a) =T HROMHHIE 7.
(2) TR SIS T (b) B (a) = wROTEHET AEL
(3) IVl A T
(4)  (a) W Y (b) TF.
Consider the following two statements :
(a) During gamva Sai the people worshipped good and evil spirits.

(b)  The people worshipped them because they were afraid of them and wanted to please
them.

Answer options :

(1) DBoth the statements are correct and the second is the correct explanation for the
first.

(2) Both the statements are correct but the second is not entirely the explanation for the
first.

(3)  Neither of the statements is correct.

(4) The first is correct, the second is not.

2. Srwdd vt 3 Feg, ddd gy eiedel w1 fewa e ?

(1) e (2) @R Y

(3) SEETEE s (4) TUH TR @ qra TR

When the agriculture was still to be practised what of the following was uncommon ?
(1) gamva sai (2) love for the jungle

(3) boasting of earmarked plots close by (4} none of the above options is correct
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3. ‘Taws = 9dG UEIStsh! HTH HHE €Al 7

(a) ol widt F@ (b) Ta frdsr w0
(c) = anftr e (d) axfafma
TR IW

ORNCVRGRCY (2} @ (b)) (@ (3 (b) () (d) 4) @, (b) (©
What are the practices involved in the custom of ‘Gamva Sai’ ?
(a) Propitiation of gods (b) Village should be deserted

(c) Ritual worship and blood sacrifice (d) Barter trade
Answer options :

1) @ (0 @) 2) @ b)) & @G (b)) (d 4) @, ®) @

4, OG®HFEA Td fer 9t §F oAt (Eiols! Sivd Wy STEvas st ?

(a) TR R HE (b) OES qooH ITTH B0

(c) <o WA W F (d) whwiE! THE TR

et W

1 (9 2 () @) () (4 (a)

According to the author, what is not a pre - requisite for the beginning of settled
agriculture ?
(a) Land should be tilled with a plough. (b} Iron should be abundantly available.

{c) Forests need to be cut and cleared. (d) None of the above.
Answer options :
1) (9 @ ® C/BC) 4 (@

5. Hqeadid! SO HREEEY STHT B
(a) €9 Y e A THAHRW THa (b) Y JeF Il gEgfatma

(c) WTedE HIO T TR (d) <IN Toce oTH.
gt I
1) (@, ®) @ (@), @) (@ 3) (@) (b) 4) (@, (b)) (d)

Sites for mother - goddess cults were at crossways because
(a) This is where the paths of the nomadic people crossed.
(b)  This is where the nomadic people exchanged goods.
(c) They could not cut the forests.

(d) Valleys were Swampy.

Answer options :

1 (@ b)) © @ (a). (b), (d) (3) (@ (b) 4)  (a), (b), (©) (d)
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UIT HHIH 64 8 :

T & TS ST Rl Aot sfEeit afiferdt ST, T A9E TS A
TTITe foha S qraETEt TR S Teer]e v ). gehe 919 YR STHd. ST
THhTe g1 Tl gifErdt 3T9d, SO TEs YSodl THH SaTHrrel TRRITIR STafad qrasmiel |y
HHT ITHA!, SV T YR WiodT ISR ST, FUST THH UHal ded Y& od I8! A0 TR FHHte!
TS o TR TSN Y&k Y (FO-y weenasd ST 900 ST, SIS Se qIHe
TSade faaed dEte Afvs J9d.

GIEECART FSYd FEan. STodls, Qemm, Tdaiyel, Afd-e8 il e 9-570 I9E1 95 3
TS T, NS 6 HEMIS I TovNEa THIPA (919 Bt S8 & g&hles eyl ferdmed Tiax
foegdl an. e TRl didar AT IEcds UhEl 9SSR A e wiifert fio 2.
frordion anesdzisnty ¥ TEUEmn.

T Flte A= THRY ThI@ WAV T8d U 9l TNy SRS § o St
Y o® TR TIE R Q. Ddoed] gaTiHRIEE gehlerd! TRud Sow gHhemeE 21,
ATV MR, FEIad Ao TR, § eTiate Ifavr He Tt 2.

Question number 6 to § :

Drought is basically a distress situation caused by the failure of rainfall. This failure may
be due to insufficient rains or due to a wide gap between two or more spells of rain. Droughts
are of three types. A meteorological drought is a situation when the actual rainfall is significantly
less than the climatologically expected rainfall over a wide area. Here the rains do not arrive in
time and are inadequate. Such droughts are mainly concentrated in the areas falling between
arid and semi - arid zones of the country and are characterised by high variability of rainfall.

Hydrological droughts are associated with the drying up of surface water such as rivers,
streams, lakes and reservoirs and fall in ground water levels. Such droughts are augmented by
deforestation, mining, road construction, overgrazing and withdrawal of excessive ground water.
All these factors contribute to hydrological instability leading to droughts. Agricultural droughts
or soil droughts occur when soils lose their effective moisture conserving capacity. This prevents
healthy crop growth. Such droughts may occur even when meteorological droughts do not
occur and. vice versa. Under extreme conditions of such a drought no plant exists and such a
condition is called desertification.

Although all these three forms of drought occur independent of each other the occurrence
of meteorological drought is the basic reason for hydrological and agricultural droughts.
Prolonged meteorological drought results into hydrological drought, and may, thereafter, lead
to agricultural drought. This transition is a very slow process.
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6. WIS QA faum TE
(a) TS §IW THT FHI-HK TSTITE! THRIAT W T4
(b) SO THE JHAE T G T Ted w1, Tl

Waﬂ:{:
(1) <ETH @) = a
(3) (a) H (b) R (4) (a) UK (b) T

Consider the following two statements :

(a) In dry areas chances of receiving high or low rainfall are not high.

(b) Hydrological droughts begin with illicit felling of trees and overgrazing only.
Answer options :

(1) Both are incorrect (2) Both are correct

(3} (a) is incorrect (b) is correct (4) (a) is correct (b) is not

7. G faum a9 4 @ v e
(a) TAHTRIAE TR 8 Wi QRlale hRU .
(b) SIONTE gwhies EHIE AHETHd Hewi=l Tiom! STHe.
i S
1) () = (b) T A= S AR 2) (a) T (b) AF IF M.
(@) (a) TR IR T (b) I 3R 4) (b) TR TR A (a) IF M

Read the following statements and choose the appropriate option.

{a) Climatological drought is the cause for every drought.

(b} Hydrological drought is always an outcome of the human factors.
Answer options :

(1) (a) and (b) are correct (2) (a) and (b) both are wrong

(3) (a) is correct, (b) is wrong (4) (b) is correct, (a) is wrong

8. @ﬁﬁ@ﬁﬂﬁ@ﬁ%ﬁﬂﬁwaﬂwmwmﬁwm?
(1) <oImEs (2) tﬁ?ﬂw (3) TEHRIEE  (4) SSAAoR

If the wells grow in number in a specific area what kind of drought is likely to occur ?
(1) Hydrological  (2) Agricultural (3) Climatological (4) Rain based
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WOTHAIR 9 T 12 :

Huf wEeTd e aoed Yewl fumien 9 IRl Y9! soen srfea fafaudd, St
TS WA RUME! i@t i S LTl GURUETE WE Wl AR, =EeRie S TSt
IIEAT 377 7 I8 RIFA 1 Ywi=1 AR Eeauaren "t Heft IUosy 38, W1 SEe S F
SIS 40 IUTHEN T FUATH e R, el @ qUEvarE! et it R, et @rEnet W o
T oIt i wiult A1 Rt Wehe fafasdE AT S,

st Tafaumsar qraER eTeTfia aqere fafiy Twargdy farined guron w&d 3aes sl
43, iR FeTHq IUW T gl (9€ FeT I e T v S ¥ dates
SIqeRATAT Geys WISATER =T JamEd hed. ALY T Rl FHT SEEAT AT TSI 9
TaoTI HAM B afta e ores wow e S TETE yede st a@ e ufifedi
oo O TTavaad SR TV 1 THaeae 3ed.

e Upmed BR 92T Taehd dHe Sl T THIS! 9o S1eal ofHid 2% Yehaw. 37
T A=A brism fawiet fas € IE i IreEmETRe o @ 9 SO SqE Tl Wk
T erEeE fawdd I ol SR, 39 ST 2 98T ST aeedd daeEi

SITOdE TeRIT=T TG STl IMAT G auien YeasrRl WmdfiHa smftede vEm I
T TFRIIAT TS S 9 UG Sehd SeId= Feerdiared SrTed ol Thiel 4eie Tr= vard
a1 orar defie meEar=n dien 92 LU THEAH S9rl T e aet g fddtsE
TR feddrd, 91 UHUREUOTHEAE UF v fafauar oma St Smeie gat Saeai suesy 2
TS T T uoes il it Srdtes gam feodt arek snudi| 96 gar Surd g9 qar
701 370 foat fasror=r So=amrhd st fSHof TS 1R o1 foaholl ot dieshies SRR Huardl qaza
HT, 71 Haiqes defie sTfied Aaw=a uas Serde ferdaey S e, @i 8 e |6t
Fefrrd TS o). o ST Saedt faaioaret et =R fadtaT sietian s o= w3 a7,
sTfor S SrgEE Ui @9 9 e wevErs GG Avie 1 SIS 4o 92 Al A6Edl al
TR ST @+ THE AT 7.

Question number 9 to 12 :

The genetic diversity within the handful of crop and livestock species that feed humanity-
so-called germplasm resources-holds much of the potential for improving agricultural
performance. At the same time, great opportunities lie in broadening the base of the species
that provide our food and fiber. An agriculture, sufficient to feed the world’s population that is
expected to double in the next 40 years, will need to use both plant and animal diversities.

Increasing of harvests rests on a foundation of genetic diversity by bringing about
improvement in the crop upto a desired level. Throughout the history, the selection and breeding
of superior plants was done by individual farmers working on limited stocks in their fields,
augmented by occasional spontaneous crosses with wild relatives nearby. Cultivated crops,
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though single species, contained an incredible array of genetic types adapted to local
circumstances.

In industrial countries, few farmers can spare the time or land for plant breeding. The
selection of high performance crops today is done by government scientists and by private
companies who sell specially bred seed to farmers for planting. Farmers have traded their
independence for higher performance and larger harvests; as a result, a few successful varieties
are being planted on millions of acres.

Fifteen years after a devastating epidemic of Southern Corn Leaf Blight cut the U.S. corn
harvest by 15 per cent and alerted the nation to the genetic vulnerability of its crops, a visitor to
the wheat fields of the Dakotas or the corn fields of lowa can still see row upon row of uniform
plants stretching to the horizon. Yet under this uniformity lie forms of diversity not available to
most of the world’s farmers. The many varieties under study by the private plant breeding
industry, the widely available information on pest outbreaks and weather conditions worldwide
that constitute an “early warning system,” and a seed industry that can transport varieties
quickly to areas that need them all protect American farmers from fatal vulnerability. These
safeguards have come at a substantial price : U.S. farmers now spend over $ 4 billion each year
on seeds, and while the cost per ton of grain harvested has declined in real terms over the past
three decades, the cost per harvested acre has doubled.

9. &I T faumian faam =
(a) IS IS YEIG fafay e fowgd SR enEe Sedl S aed.
(b) WIHE fSfaeaddes § e 9o AR,
I
(1) (a) TSR AR T (b), (a) = FROAHAE 4.
(2) (a) THE T8 A (b) T&d YT IEAA AR
(3) (a), TRASK 3 W (b), (a) = FROTHHE T TG
(4) YR=SQEsA A1 fauTHisTeEd higT i ad g

Consider the following two statements :

(a} Today alarge number of widely diff. species are getting planted over extensive areas.
(b) Genetic diversity has led us to this situation.

Answer options :

(1) (a) is correct and (b) is the correct explanation of (a)

(2) (a) incorrect therefore the question does not arise about (b)
(3) (a) is correct but (b) is not the correct explanation thereof,

(

4) Nothing can be made out from the passage about the statements.
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10. TE® o fagmin faam & |
(a) VOFHHE d W FI Gleed T AT TH €9 916 wafd Werl e 3R,
(b) SfF TS aTo T FIUARGE ST IO SFES hedl S ARSI WS YeH

FrafraTd 7eg ot IR,
ot 3
(1) TR (2) TR IF
(3) (a) TA (b) IF (4)  (b) SN (a) IF

Consider the following two statements :

(a} Higher profits is the main consideration for the farmers and the private companies
all alike.

(b) The wild crops have regularly helped their cultivated counter parts throughout the
history in producing superior varieties.

Answer options :

(1) Both are correct s (2) Neither is correct

(3) (a) is correct (b) is not (4) (b) is correct (a) is not

11, v et fafayd=n sfagra wifgen o€ St -
(a) ST IS DY HST 3.
(b) AT I v e IR
(c) W/ ATEA erEiel TEaviaT T6 TS A
(d) g waferd @ quu fig s g9 <9 TE
(e) Tayur fodla gt @ o8 FI0ITE 9188 HLaM.
(f) T oy faesdl wig el s49 fEe Tt e

Fire o faur sler amed ?
(1) (2)(b)(d), (e) (2) (@) (b),(c).(d)(e)
(3} (a).(b).(d).(e),(f) (4 (@ub),().(d).(e),(f)

If we see the history of the genetic diversity the farmers.
(a) have benefitted from higher performance.

(b} have become rich because of the larger production.
(c) have overcome the problems of planting of uniform plants.

(d) but the circumstances do not allow them to decide for themselves.
(e) the market driven tendencies force them to follow.

(f)  and the benefits come to them at a great cost.

Which of the above statements are correct ?

(1) (@) (), (d) and (e) @) (@ ®)© @
(3) (@), (b) (d). (e) and (f) @ @, (0) () @)
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12.  eivenfirs Swid gal Thven yodte e oM ekl ST %3d AR SR ;
(a) YTERT VTN AW Y TE: A ITRA
(b) WTI HY=T ¥ HH ST SHES FW .
() Videndl GET HTHA T L.
(d) IR SIS STHI T FHIHEE! I SR
ERIRIIST
(1) @, M (2) (&) (d)
(3) @ (b), () 4) (@) (b) () (d)
In industrial countries the farmers who earlier did plant breeding are no more resorting to
it because :
(a) Govt. scientists want to take it upon themselves.
{(b) Private companies undertake plant breeding for their interests
(c)  The farmers are busy otherwise.
{d) The farmers want to put their land to other use.
Answer options :
(1) (a) and (b) {2) (c) and (d)
(3)  (a), (b) and () 4} @, ®) () and (d)

U9 shHish 13 3T 14 :

I B FOAE FT 21 I TaH T FEY GH e, Ry AEK o™ TS5 (G969 HOW B
UG i € Iah T STHS. TH SR 60 T RAISl SeSeie STere! e 18, WRamt 55%
RS T TSI SATS FATT AR, U 3¢ T T AT AT SFR STATEIE 6000 B
T Yo AR,

U7 0§ AT 910 Jovd B AR, w19 gfgaa RN w. @ geel 9ong R,
Tor fayaum 9 JorE TYSUU TAR! Fdl S dard. U FAfHwT THS gl 9 gEe siad ST
RiE UG . TR IR 11 A TR Y6 A THE 9el IR, WA 79 SIea] ThiaHie]
TTFRIG AT TS ST TG ST SIS SR S, 07 W g Iy wRdren Stere, CHie, e
FITRTT HI e S,

IRIFTGE WRATE T Sfas Searen Feheu agie geeey (Fq9 9 ¥ Fge AR.)
HIUTHE TR hel. Y91 UG i ST U ARG I97 Aiod! a6 Sqaei Sl i ? St S S
! UHA A dogt ot fohdl a6 dlarg o U0 SviEl. o MoFY 99 q9R K 9 6T .
oAl faRT oS €18 Y Seg1 S YRATT Seh! UHE Jad dog] 7 Y3 FiaTd vl o THHFA] 94
<3 =9 3o, T WY e Yohd AR SN 8 ARATE A 3R,
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15T e TETE STHT AR F AR A SR SUGTET W T, WA fiher SRR Svarst
ST SR, SIS 1A T8= TR 41 G811 TeiEe YgRiel qEard ot gifes. STIearel had g
74, otfaer Jfgam M, afs FRiwuem 19, aftre favovs @1, Fe 51 St sifas wem favsy
Fidie, AT T S oo Taed TEH SO0 Tl T o siiei STeTel ThHiaHrs YT YiRa
SIS SATVYT TR IO, Heh e, TN, MTaeehe qIgonal, TEAT S 301 Harsfaente
N ST © MiGe Ties.

Question number 13 and 14 :

Many people say that 215 century is a century of knowledge, but the people who think
more deeply about it say, it is going to be a century of mind. If this is the case then India has
demographic advantage. India has 55% of its population less than 25 years old. This means
that there are 6000 lakh odd minds to shape destiny of India.

But there is a fundamental difference between the mind and the mindset. Mind represents
intellect, mind allows you to make smart observations, smart analysis, smart synthesis etc. but it
is the mindset which determines your attitude and your approach to life. In India, there is this
huge battle between the Indian mind and Indian mindset. The Indian mind is taking us into
215 century and there is no doubt about it, but it is the Indian mindset which is drawing us
back into 14th, 15th 16th century.

Centuries ago Indian mind introduced the concept of global village with a slogan,
“Vasudhaiv Kutumbakam” (Entire world is a family). We say that we are one family but are
we practising what we say ? We know that when two Japanese come together, how many
Japanese they make ? They form a great team and become eleven. Someone in a lighter vein
has said that when two Indians come together, they become zero as they neutralize each other.
They do not make a team and this is the Indian mindset.

My basic premise is not that shaping of Indian minds is not required and only changing of
the Indian mindset should be attempted. We should start taking up both. We should not only
be contented with clever minds, more intelligent minds, more observant minds, more analytical
minds, better minds synthesizing in a more clever way, but also mindsets that are positive,
constructive, forward looking, mutually reinforcing, - mindsets that will make it possible for us
to shape 21% century India.

13, SITSTA SHIIETeT @iole Hvd fodm a3 ?
(1) STl F1e gerii=n 1. (2) ST A § WIS A TR,
(3) @ WOCATIOR B 6@ A 3. (4) 9 Umd faue arg a@l
Which of the statements given below about todays world is correct ?

(1) Itis a clever peoples world. (2) Many feel it is the ‘mind’.
(3} Some say it is the "knowledge’ (4) None of the above.
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14, RIS TR fgum swimg @,
(1) RIS gaN 55% Bt Ty sEtaa sne.
(2) RIS GHN 45% Sl 99 qrEeeal k.
(3) VIdIG FIERT DI TgEeEd TR
(4) YRGRIE FAN 55% @6 GUR 9Nl .

Which of the following statements is not incorrect ?

(1} About 55% of the Indians have modern mindset.

(2) About 45% of the Indians have old traditional mind.
(3) The elderly people are not in majority in India.

(4) About 55% of the Indians make intelligent analysis.

U9+ ®HHiE 15T 19 :

U] HaTF Tog ATSS] A6, Al JeieIahq T Bl i, TRATH WAHMAH SHAEHS Fdel qa=t
W 3 9R. YREE Sal W A (ae 3 Sle T ITHAre SRETE), e -
3qrmfayt SO Svarea AfER TR TR SR, AT T IdAYTE SAde Y8 RN TeHr
BroaTst Hefl Ivesy 3 U wifafafue | SewmEta  HeuTh SIFvRES dedle gE o, el
AR SATE & STHGESTE ATl ST iy e TeRd G SFNEE SO 39 STl
39 S wEHE FRINTE 9w TEurh guatsas 5T T6, W A0 yawanie feanayr

SR HTEATR A TGS [UEa e THIS FH S ivarel SRH T 97e aed. Jifed=
AlvwR AfuFEaE WHER 64 A YgHe IRdGE qHie @l e, @1 Afutaame AR
TRE T AE@d. IR ToaEe e Sfwe 19(1)(F) Heie v 3 Afveusdita=ame migdE
AUHR AT IR, § Ao fafay <IarediHt Qiftds s, meden sifusr wret ot gesE
AT Aged TEHET= Y SERA=T 7e T8 3R,

HI FeEl WHITTF ~A9re &0 F TR qRi qdie migda sfawn wEet it weeg
Y&, WTHATA YEifasRmed g6 TRl =, Wi, 990 9 S99’ WE geo 5 ui o1
S 3R, HigAren yraifasme =’ @ It faanyd® Yun R SrEh S0 AR ARG
T, HHAA S 94 dd. 19 8 o 9 ARG, =R S9! W, WA 9 S YT ) G0
YA AT R0 GF AR T g SHEH TGS Ao FRUNE . TS TS
T HETS TifEeia aiar S Hdl 9 Hudiay SIS Yo HaW Jad THdl. Il IR sfaeael W
TH F0 T TR0, WU A Hedvarsa Yiwhdd mifgdl SRR S A Gl gEe HTe.
e Wedg! JfFEH 7 T9Ode T FEe F AR Fedea! ai=n A fawg a9 9.
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TaleuERl Heede | Wifgdral AfYAR Wil I d ey A, SiAmERn =g 21 TER
Y AT Sifad 3 WAt AER oR. E IR Stidd | Wid Ao, gRem o TaE
AT U HuarEn Yo AHSE TSR R, 1992 WH afteds TR € 9 39 soe
Y IR 4T (TEER HI0G . 89 YAV Tedeid o UF AN, i medt
Frferrraren fefilH QR e AR,

Question number 15 to 19 :

Preamble to constitution of India starts with “We the people..” It does not refer to people
of any particular caste or religion, which signifies that the constitution of India places its people
at the highest position in democracy. When people of India elect our government, we also have
a complete right to get aware of all its aspects and governance. Such awareness gives a chance
to actually participate in the process of governance which in turn advances the democracy
from being merely representative to become participative. Success of democracy largely depends
on participation of its population in making and implementation of government policy. Where
common people are not able to actively participate in the process of governance, possibility of
protection of rights of select empowered class increases manyfold. This holds the potential of
eventually becoming a major obstacle in the path of Social Justice.

The efforts of creation of knowledge based societies of ‘Informed citizenry” are ongoing in
various parts of the world. India too, has joined the bandwagon by accepting the Right to
Information. ‘Informed citizenry’ term appears in the RTI Act. Various courts in India have
reported that Right to Information is inherent to Freedom of Speech and Expression provided in
article 19(1)(a) of constitution of India. Additionally United Nations Organizations stated in its

< Universal Declaration that Right to Information is fundamental to human rights.

In the light of this, Right to Information can play a pivotal role in the process of protection
and establishment of social justice. Preamble to constitution of India has resolved for “Justice,
Freedom, Equality and Fraternity” to all its citizens. Deliberately the word ‘justice” is placed
first in the order. Justice is fundamental, in absence of it, freedom, equality and fraternity
cannot be achieved. Absence of justice leads to social inequality. This inequality stems not only
out of unequal distribution of natural resources but also out of unequal distribution of information.
Ruling class controls information to maintain its hegemony over power and resources. Indian
history has witnessed this time and again. Social inequality can be won over by making the
socially oppressed classes aware of ‘power of Information” and therefore Right to Information is
extremely crucial in the process of achieving justice. It is for this reason that Right to Information
has become a matter of utmost interest for numerous civil society organizations and human
rights movements.

Right to Information and Environmental movement are also closely connected. Article 21
of the constitution provides Right to Life and Liberty. In another a words, citizen have a right
to know everything that has impact on life and liberty. The same was also reiterated in the
earth summit of Rio de Janerio, Brazil held in 1992. This also being the core principle of
environmental movement, they have keenly promoted Right to Information.
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15. Tfedten ST GTEGIH! ST oA Tawiv STfu® Hafa o1 -

(a) hfaa 3 @ o (b) NSNS &5

(c) v g AfeE] ST T .(d) Qurfors g%

WIS RV TE G G ?

1) (@ () (2) @ ®) @ 3 @@ @ @b«

Right to Information is more related to which of the following fundamental rights :
{a) Right to Life and Liberty (b) Right against exploitation
() Right to freedom of speech and expression (d) Right to Education

Which of the option given below is correct 7

(1) (a) (o) (2} (@ (b) (0 3 @@d© 4 @ ®) ()

16. o I faumn feem %
(a) RIS sifRrrey ST SafFas it TeIET T SR
(b) IS W, T F S A AT Ao ST WA ST TEH AR feeRnra fwst e

TR
ot IW -
(1) & 9 (2) IR R T
(3)  (a) TR (b) IH (4)  (b) TH (a) TF

Consider the following two statements :
(a) Right to information is being pursued by individuals all over.

(b)  Various societies, movements and countries well informed or otherwise are following
right to information.

Answer options :
(1) Both are correct (2) Neither is correct

(3) (a) is correct (b) is not (4) (b) is correct (a) is not
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@ faymier faem &4

(a) T U WITSE AN U SR

(b) W= W Fal GEWNT THS 18 WS A g TRl
I FW

(1) (b) T T (a) T T TTLIHI,

(2) (b) TR, WY () A T TR .

() TR IE

@) (b)) IF (2) TR

Consider the following statements :

(a) Non dissemination of the information is a root cause of social inequality.

(b) When the participation in the governance is not all round social unjustice could
prevail.

Answer options :

(1)  (b) is correct and (a) is the correct explanation of (b)
(2)  (b) is correct but (a) is not the correct explanation of (b)
(3) Both (a) and (b) are incorrect

(4) (b} is incorrect (a) is correct

18.

TEiS faumi=n foar 4 :

(a) TR ARG SRR savas § v @ fi S |9fite A9 wed T,

(b) WRAAS o9 FEAPF A AN oo AE h THNE AHEe! WRIdEl Y9R HIavEad
HTE.

Tt IW

(1) <=1 s (2)  HIUERET ST AR
(3) (a) ST (b) gF (4)  (b) S (a) I

Consider the following statements :

(a) “Citizenry has right to know” was for the first time said in the summit at Rio-de
Janerio.

(b) Many courts in India have reiterated that dissemination of information is an absolute
must for attaining social justice. Now state whether.

Answer options :
(1) Both are correct (2) Neither is correct
(3) (a) is correct (b} is not (4) (b) is correct (a) is not
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19. WG] FHivar ariHe Wafird Semes qevrlt Smmeme waew giad g ?
(a) WEE o faurdeamel yw faamo, |
(b) THAIfGE THN TES HL.
(c) Tfedt SHferprr=n STIUEN WA § TUTET URERI el
(d) WEET FRARETS SO g
Wt I
(1) (o) S0 (c) (2) (). (c) (3) (o) s (d) 4)  (b)  (d)

Which of the following indicates the transformation of representative democracy into
participatory democracy ?

(a) By asking questions in parliament and state legislature

(b) By launching complaint against administration

(c) Using RTI act to make government and administration transparent.
(d) Getting knowledge of functioning of governance

Answer options :

(1) (a) and (c) (2) (b) and {c) (3) () and (d) (4) (b) and (d)

U HHIS 2094 22 ¢

1991 =1 TEAMA YRAld ST fawmme gy 918 @Fe. JrEl Y@ SRy | aieriq s
AT, AT g A Giiaud Aeforawd=l yewe € Terseshdl A1 UROT TS AUATE HRIYd
B, A1 il Hehergd =1ex Jvarn un wevamet s sfaemeit faem gfwar ffvem woamnd
TS TS T B SAEn Ahedie fadE st ag wiede @ wH 8% e, sifds
RS Hgwara fEE T E w1 v WA 9y i ugmv ot wiwen & seiesn SedaEr
=Tl

el GURUHaT=AT hleld STEdoN e fammar=a evid wr Hie] 3enars i e 1.
TS S qeERHE YRE &1 Tald 3T FlGTd FoTdT, Sl <81 @ S0 SINHETS Ush 2ldl. il HaTe
WO UM T HeHdl q1 H@dis FHNR oad HUaERE! gl 1997 7 2002 74 9HaR ot
HZH AL Aol A0 Sgre STfEd AN i YT Uaesd dadrdl, $T ey StTe e
Yheanl 23.1%9%A 28.2% X T Bl A9 HIBM TS TARHE Jaavjes, e gar. o faxda
e dIE] HH A B, AT TR T Ad s, T Tod 131 A1 Hewidl S Rt
.

JrEaRITa 3TH TRUIAT 5@ 1 WA AaE Tedr IR guid S Wors 8% § 9% 3T 91ed .
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Question number 20 to 22 :

In India, economic reforms were initiated in mid 1991 due to problems such as increasing
external debt, unmanageable balance of payments situation, high possibility of acceleration in
the rate of inflation and the fiscal problems. External factors like Gulf war and collapse of soviet
economy also contributed to the crisis. With a view to tide over the economic crisis and ensuring
sustainability of growth process, it was considered necessary to introduce certain major policy
reforms, on industrial trade and public sector fronts. Measures for stabilization aiming at
reduction in fiscal and current account deficit in budget were also necessary. The economic
reforms basically aimed at allocation of resources and decision - making to be guided by the
market mechanism.

In the post reforms period, there has been a ot of optimism regarding long-term economic
growth. In the last two decades, India was among ten to twelve highest growing countries in
the world. Some macroeconomic variables performed well during this period. Rate of inflation
declined during 1997-2002. Gross domestic savings as a % of GDP increased from 23.1% to
28.2% during 9" and the 10t plan. Gross domestic investment increased and fiscal deficit
declined marginally during this period. FDI inflow, FOREX reserves showed promising trends.

In conclusion, the economy seems to be on a high growth path of 8% to 9% in the last 4
years. The performance of the other variables also seems to be relatively satisfactory.

20. HNAT THF GURON YSTH HAUTAH TR AT WO HEHIGh! SIREISH R0 7

(1) TER (2) frafda =

@) i 9% W@ o @) o = AR

Which of the following is an external factor leading to economic reforms in India ?
(1) Inflation (2) Fallin exports

(3) Slowdown of industrial growth rate (4} None of the above

21, CIHEIH FHIVE W@ AAVETE TFHE T Iiweed 9T SO a2

(1) e gEaa (2) wEEE
(3) TiaTEra rleE (4) 92 WEE [FEE
Which of the following is a macro economic variable, not described in this paragraph ?
(1) Money supply (2) Inflation
(3) Balance of Payments (4) Foreign Direct Investment
22, YRAWIS 1991 =T ST GyRvi=t F&id A&t T B, .......
(1) aEr= S P (2) STYFTEFIHTOMER W AT

(3) EE-Tafden o el oR. (4) e Tl AR

Major limitation of economic reforms of 1991 has been :
(1) Rate of growth is not adequately high

(2} No stress on modernisation

(3) Slow growth rate of exports and imports.

(4) None of the above.
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W Uik 23 q 27 :

T AT Jroft S Tt A S9N WA e A, @E aiAl ST Yo e Sy
IS I Aial IO EHT i U A WS, I ST SAARH $UT WA, € 589 qaR
TUAHIS! T S FIB WAl @Gl TRUHA Seed 39 Ui waifed SRd. W@ @ 3
AT TR ST T BTG TR,

ST U TR, B9 S0 91 0 A Si9eid geATe e Hiied. J[ HieH, T a0

WA S99 B[ SRR Flel aie! Sl STFSwHedr=T aHa e 78 §id 4T 9iawd
fegm, AR N 349 4@ T e fHoaar Jam.

Fafife 9 & arEel AfovE TS o9 3R IR, 3 Sas 92 U suft 1T wHiviarel T verd
TR SHETE AV At 3. THEA, 599, 9, |7 skt Faiie agd TR SR
S B R, HRV A FAH e I9d TR,

G el gad (0T HLaT J9 FIV SR, THIET AATHONY Sl Sardl G5 Fvard 91 e, &
Fiordll T AR, AT qfLfeudia qor IREGSTeAT AT TE Higa H0 Mavdd IR,

Question number 23 to 27 :

A long time ago remnants of plants and animals got buried into the earth. Due to the
effect of the tremendous pressure of the layers of earth above and the heat inside they were
converted into fuel. Such fuels are called fossil fuels. It takes lakhs of years for such fuels to be
formed. That is why the deposits of fossil fuel are limited. As a result, a need has now arisen to
make prudent use of these resources.

Fossil fuels are found in three forms solid, liquid and gaseous - in the bowels of the earth.
These fuels include coal, mineral oil and natural gas. All fossil fuels contain hydrocarbon
compounds. Besides these, we daily use other fuels too, for example, wood, charcoal, cowdung,

ats, efc.
P Firewood and brushwood are used as fuel in rural areas. It is a matter of concern that the
use of wood for fuel is causing destruction of forests and has endangered the environment.
Mineral oil is found may thousand metres deep in the bowels of the earth. Petrol, diesel, kerosene
and fuel oil can be obtained from it.

Natural gas is a very convenient fuel to use. It lights up quickly and does not leave behind
any solid substances. Besides, it is easy to transport from its main sources by means of pipes. A
big advantage is that the burning of natural gas can be easily controlled. Methane, ethane,
propane, butane etc. are the various types of natural gas.

The deposits of fossil and other fuels are limited. That is why, coal, oil etc. are said to be
conventional or non-renewable sources of energy - they cannot be produced anew.

Even though we are now using renewable sources of energy like wind energy,
hydro-electric energy, biogas, biodiesel, etc. we are still in the grip of an energy crisis. The main
reason for this is the growing population and increasing industrialisation. It is difficult to
continuously produce the increasing amounts of energy they need. To find ways of using
renewable sources is the need of the hour. In view of this, we must concentrate on the use of
solar energy.
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23. Ul 39 Ha wald ifues fawer fog g e ?

(1) OEHEER (2 degdy (3) & e (4) ol s

Which energy source has proved to be the most destructive ?

(1) Fuel wood (2) Oil and gas (3) Atomic energy (4) Hydro energy
24. Sl RS &

(a) TSI HHE (b) W gwe

(c) i T (d) valaTey wHe

(e) Fremi= Somit (f) SIS G

qrg vty fraet

(1) (a) 2 () @ @ 4 ®

Energy crisisisnota:

(a) Social problem. (b) manmade problem.

{c¢) economic problem. (d) environmental problem.

(e) gift of nature. {fy global problem.

Select the correct option :

(1) (@ 2) () @) @ @ ®
25. VAl QRO ST S A SIeEE -y o ?

(1) =B 2) @i (3) ufi® sy (4) <mETE

Which conventional source of energy is most man-friendly ?

(1) Coal (2) Mineral Oil (3) Natural gas (4) Biogas

26, ot e Afursmfus id e O AR, IV HIneR T e gt ?
(a) THfTE el FRO d YEWd 9Tl I
(b) AR sAfaar Jurar Faihe By wEA .
(c) 9 IR TR R A Fal.
(d) YU T BF YA FIee qiesa.
Tafdt W

1 () 2) ()F () 3 @ b)) 4) ()

The problem of energy is becoming increasingly acute. What should we resort to ?
(a) Natural gas as it can be conveniently used.

(b}  We must pay more attention to renewable sources of energy.

{c) We should lay stress on solar energy.

(d) We should find new sources of energy.

Answer options :

1 @ (2) (k) and () (3)  (a), (b) and (c) (4) (b) and (d)
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27. S99 WA Sell Gehelqd &Y HEg TF ?
(a) TG AR AT HEAT UG (b)  Alymlue TG Taran 394
(¢) SirafieRtoran 9 FH &8 (d) stfaw 7o 9 IgEH STEE FEA
A T
1) (a) 3 (b} 2 @9(@ (3) @3 (d) (4) (a)9(d)

How should we extricate ourselves of the energy crisis ?

(a) by containing our teeming millions.

(b) by finding ways of using more and more renewable sources of energy.
(c) by slowing the pace of industrialisation.

(d) by importing more of oil and gas.

Answer options :

(1) (a) and (b) (2)  (a) and (0) (3) () and (d) (4)  (a) and (d)

Uy hHih 28 32 :

ST B I HeheqdT e, AHE TSI SRt STavg § 950 HET A Soarons gl
AT IHAM H AT AR, THaren FRFEn TRenaret areear daER SaHed 95 gefae .
HEA VIS Sal. JEE! A0 AV SR TS Hed Uil q6E 3dl gaHd S S ATy
A1 MEE GEE B GE TEHEA Safgioga fargs afiide hoea SeTur e FivdEl 7
e Sfas v, st fa Sfaw saes Js fafiy Smmet arws S e Segs 78 B
%.’Wm@wﬁww%as@%ﬁ@w%ﬁﬁawﬁﬁaﬁmm

W@mwmmm T S, GRS, FTOeiE e,
TSRS, STaCETene, Yo, Ui fage Smeymm qea: Semerseie sad don W
arfiraitaet, e Ffiwar stfuwifae!, Samfedres o6 SaamHaye a1 favgiaE amnes g,

YT ST 5419 Haheadl a1 SEaaeren fafiia woen fGfay ygd 9 95 I
HUNDTIT STHAW Ao T T Wl g1 ThiAaqam S[aemesia g’ $78 Aiem of J5o.

SAAATE § ATTIId hog QYA 9 TawE et uRed S8 W SauTed e suHn
HeaatHa ST Taem, Y, I7H, T a9« siadw @ i sa st medg w=
AR, TG Yehe I anE, Ted, faem 9 Fifd o fooe s v @ R, € saes
Ve 1= AT S SITaR i AT g9 TRfd L0 Aavds e, (U9 § e
T RTIIMT TI=TET. )
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Question number 28 to 32 ;

The concept of biotechnology is a wide concept encompassing procedures modifying living
organisms as per necessity for the welfare of human beings. The living organisms are modified
by various technical procedures for number of human requirements being such as domestication
of animals, cultivation of plants and improving plant variety through various breeding practices.
Modern techriologies used for the purpose include techniques like cell, tissue culture and genetic
engineering. The United Nations convention of Biological diversity defines ‘biotechnology” as :
Any technological application that uses biological systems, living organism or derivatives thereof
to make or modify products or processes for specific use. In other words, biotechnology can be
defined as the application of technical advances in life sciences to develop various products.

Biotechnology also involves pure biological scientific disciplines such as genetics,
microbiology animal cell culture, molecular biology, biochemistry, embryology, cell biology and
those outside the sphere of biology which include chemical engineering, bioprocess engineering,
bioinformatics and biorobotics.

Conversely, modern biological sciences are intimately entwined and dependent on the
methods developed through biotechnology and therefore all these together constitute the life
sciences industry. Biotechnology is research and development in the laboratory using
bioinformatics for exploration, extraction, exploitation and production from any living organism
and any source of biomass by means of biological engineering where high value added products
could be planned, forecasted, formulated, developed, manufactured and marketed. These
products should be used on sustainable basis and patent rights thereof must be obtained. (legal
protection at national and international level)

28. Yoo faumra foam +u.
(a) STErdEH Sifge HeH g JETUd SLvad TEId: ST
(b) SEGAFEE ALY FIEE WY AL

gt I
(1) o s (2) EIF
(3) () SOSH (b) TH (4) (b) TR (a) Yh

Consider the following statements :

(a) Biotechnology is basically used for obtaining patents.
(b} Biotechnology has nothing to do with economics.
Answer options :

(1) Both are right (2) Both are wrong

(3) (a) is correct (b) is not (4) (b) is correct (a) is not
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29. YEie on faumi=n foam w1
(a) SR g a1 QAT SFATET 0 EH AHArE ST AT
(b) SIS qead: Y§ 9 wIET YA Sy fagm de defifed smed
T N
(1) = e (2) & g%
() (a) TR (b) T (@) (b) HEF (a) TH
Consider the following two statements :
(a) Biotechnology does not necessarily always involve organisms or parts thereof :
(b) Biotechnology basically involves both pure and marginally applied sciences.
Answer options :

(1) Both are correct (2} Both are incorrect
(3) (a)is correct (b) is not {(4) (b} is correct (a) is not

30. SadsEEE A SEE F19 R 2

(1) iR He (2) ATt e /TR
(3) TodeiE gUR (4) HHET HHTHE/ AN
What is the ultimate objective of Biotechnology ?

(1) Technological achievement (2) Engineering marvel

(3) Procedural improvement (4) Human satisfaction

31. S AT TS Hhed Tl Wioiois! hiv e 2
(1) Sieiaed SIME! A1Evds 4 o8 60l
(2) T A I D0 S WA ST FeEE wed
(3) @ faere qEadE T S
(4) SETdRT IR A

What is the central theme of biotechnology ?

{1} Moditying living organisms for their survival.

{2) To invent new techniques for making living organisms stronger.
(3) To convert basic sciences into technologies.
(4) None of the above

el HIATETE W /SPACE FOR ROUGH WORK

P.T.O.

g s i S B - R} .= 2 Lt *
¢ g e A B TR T



YOI - 24 A

32. @O faumEr faan #:7.
(a) SgaAH 99 Siifaq woArHed S o Aufie Sfas gtEar .
(b) SOAIIEG TG ST S STYSE! STAdd & i1 fImyd Aeaar=) ATewHal 9.
T W
(1) = (2) <=+
@) (a) FHF (b) TH 4) (b) FRA (a) T
Consider the following statements :

(a) Biotechnology is a natural Biological process occurring in all the living organisms.

(b) Biotechnological product many a time is an accidental product and doesn’t have to
be necessarily designed.

Answer options :

(1) Both are correct (2) DBoth are incorrect

(3)  (a) is correct (b) is not (4) (b) is correct (a) is not

UyT ®Hih 33 9 36 ¢

T WS AEEF eIl waidl [iHd S Had 8 ol @iisieaisl Waes o
T3] A, SIS FE] ST TIES ST A 3% f5ad &1 ¢ 76 g nenmEes 4 woar
oY1 T Tad G B SR, kol o 0] 9T HE FEAT $U[aT G- W9 Fq . € fran
HEATdroA oaHed A2y o WiFaad sEeeT oHd. B hha e e df quf gromyret ga=
TRl 74, & Fima quivt) AEERE EEeEl 7%, 9 g TR F9on ¥ € A,
TIUFH BT M AR, TR WG AR A0 3¢ TR, Ioual SSHe dEed! qeod gl d ars
7aT A1 MEIAes A1 faFun ST WESiNE UH 39 THeAE WVH el ahl. e soasms
TR HIYRUE: 90 9 T Afg=Ta Torrare, Wval= a8 9 gal Ha=1" - didid $9aT goarHt
uftren il Te8 fuddt Sog aTed.

IS F W IS Ygaianet sianedis @i g5 arams figed T gev 9 i
T STET = WS AT eI AT A1 ST YEAS] FHA WKl TH & oo e SIiHq 98 T Saam.
wEre fohomeds HHe wREe gA S SS90 @ [SReade aedd a1 ventE v
YHIVTE Giaal gt Wi, Wawaﬁawﬁmﬁ%mWWaWWa
FTEIATT UIATTEG Sl (e S, TG el STAn Ukl STeqd e areret g fhan o wifured
YT g =T TEU S BT o = SUFn d- A=l FHdEE! sTavas® SAHeal T 7ed WA
FE I & WA A TRl ST aRiel arial 9, aned fagd Jurn @ Aufis 969 e
TS ARE. T e W verd ¥ U fasomard gu=n fasn i srgama 9 sifameA
- | 99 oA 91 |@heien S} 9ad 918 a6

Question number 33 to 36 :

The forest manures itself. It makes its own humus and supplies itself with minerals. If we
see a piece of woodland we find a gentle accumulation of mixed vegetable and animal residues
constantly taking place on the rrround and that these wastes are bemo converted by fungi and
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bacteria into humus. The process involved in the early stages of this transformation depends
throughout on oxidation : afterwards it takes place in the absence of air. The process is entirely
sanitary. There is no nuisance of any kind - no smell, no flies, no dustbins, no incinerators, no
artificial sewage system, no water - borne diseases, no town councils, and no rats. On the
contrary, the forest affords a place for the ideal summer holiday with sufficient shade and an
abundance of pure fresh air. All over the surface of the woods the conversion of vegetable and
animal wastes into humus is never so rapid as during the holiday months - July to September.

The mineral matter needed by the trees and the undergrowth is obtained from the subsoil.
This is collected in dilute solution in water by the deeper roots, which also help in anchoring the
trees. Even in soils markedly deficient in phosphorus, trees have no difficulty in obtaining
ample supplies of this element. Potash, phosphate, and other minerals are always collected in
situ and carried by the transpiration current for use in the green leaves. Afterwards they are
either used in growth or deposited on the floor of the forest in the form of vegetable waste being
one of the constituents needed in the synthesis of humus. This humus is again utilized by the
roots of the trees. Nature’s farming, as seen in the forest, is characterized by two things, a
constant circulation of the mineral matter absorbed by the trees and a constant addition of new
mineral matter from the vast reserves held in the subsoil.

33. wiE{aR a0 @i 3 fhwad ?
(a) OEIEGAT (b) WU ST

(c) HEH T HAUFGA (d) WA

T IW

1 @30 (2) (@3 (3) w (d) (4) HF ()
What is the true source of minerals in the forests as per the passage ?

(a} Vegetable residues (b}  Animal wastes

(¢} Fungi and bacteria (dy Subsoils

Answer options :

1) @and(d) () @and(d  (3) only(d) (4) only (0

34. wEe faumm fasr s
(a) TG qAR ATt uhwal argsidt 9 faTansdt eTda.
(by T4 Td IR Hareur Tad 59 A

q'qf?ﬁﬁ
(1) el faa avm (2) =l fauE 9w
(3) (a) TR (b) TH (4)  (b) ST (a) qF

Consider the following statements :

{a) TForest manuring is both aerobic and anaerobic.

(b)  Forest manuring is not hastle free.

Answer options :

{1} Both are correct (2) Both are incorrect

(3) (a}is correct (b) is not (4) (b) is correct (a) is not

Tl RIATHE WRT /SPACE FOR ROUGH WORK

P.T.O.




YOI 26

35. WHwIH! RO faum Tepre e ?
(a) FTEd ghwa TR =0 A9
(b) TEHIEAT o AT W Hd
(©) aﬁaéi, IAEH, [ESERF 9 IUHHT HAE
(d) HFETE FEAY A AE
T 3

1 (a) 2} (© (3 (@) (4)

Which of the following statements is incorrect ?

(a) Natural forest manuring goes on round the clock.

{b) It is quicker during monsoons.

(c) Forest acts therein as manufacturer, distributor and consumer.
(d) Man’s interference therein is absent

Answer options :

1) (a) 2) (9 (3) (4 (4)

(@ HIoTaa! el

none of the above

36. WO A9 vl
(a) W ° BTk TH TR snvdt S
(by Il I9EM Shees Wa A g

ST ST
(1) <= fasr st (2) < faum T
(3) (a) TS MR (b) IF (4)  (b) TR (a) Tk

Consider the following statements :

(a) Potash and phosphate are brought from elsewhere

{b) They are used only in the formation of humus.

Now state whether

(1) Both are correct (2)  Both are incorrect

(3) (a) is correct (b) is not (4) (b) is correct (a) is not
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U9 FHiw 37 X 41 :

TR ¥ Sgsidie WIS Td SR, Wl YR Wi wEA STl ot S T 9 g F.
Foaie! oy Mg FrevaTel gHa T R, HENde HoR TEUTE SER o o &hdl TEie
FEIYAHE 1. Jid] TWIEIS Feql 91 Waies ATk Joar gd S, 9f qor90r JHes aaoel
i oTe. Franedtgon g feidt aemn o gergy 8. SiseT STvl el Seryd Jrafaal deel
ATV 5B A AR S TBUAE S99 A= ASH hia, el HEO Srafad, e IF .
FRH IS T o7 ord Rl a6d were foar {5 uie oy wiehd Al FetgmeE Qe °
YRV TS GR! S TR FIAR. SRS & SO STiTE! e thes fHed. SISl A1
Aiferer G, AHE AT a1 1. W AN A TSI  FHYEGU I €153 i 38 T
L.

T FeamEd I i Sl Herdiian Sardaad SO I 99T $TE. FeRMS FIR
AV <GS Areal THETIT 3o T8 e 1) TRe el STel TerydiHes Ao STRToe HmamE
TAR B A TR 69 T F09 330 ST6d1e el TH et M@, TH Yes ToEr R
g TREAL T TR AT ST U 9 SAITeT Hvraidt gear aed, MY fedy e %
fier 3 fagye fresdl.

TR TR0 S5 WY 2. HEMdl TRUsrE UF, YHTE! 919 24, Aied gaoed 9 ¢ T
11 AW Hed FE TEal. (99 {99 F3ar, e § 3@ e fad-[99 s semdies s
SrEHiE ekl WG ehdl, o1 ATGT FHT hE Vehdl. STAT S @TE! fhal TehTd| €94 HEUHT o =T
A SR FHEA T, q RS GO & Thd el TEYRl J 18 e SFIdIe 3T arse ALt
HYER T SARA. W 17 AR, TES § T T oM TS, Sl TSy SHE e
TR Sl 3T IRt 98e. e 4R Bl-eT9s) el FeYdiisd 8§78 980,
NET

Question number 37 to 41 :

Sympathy is a great secret of life. It overcomes evil, and strengthens good. It disarms
resistance, melts the hardest heart, and develops the better part of human nature. [t is founded
on love. It is but another word for disinterestedness and affection. When we have sympathy
for any one we see ourselves in his place and therefore we help him; we relieve him. There can
be no love without sympathy. Like mercy, sympathy and benevolence are twice blessed, blessing,
both the giver and the receiver. While they bring forth an abundant fruit of happiness in the
heart of the giver, they enhance kindness and benevolence in the heart of the receiver.

Hardly can there be any other attitude generating love in the human heart. Even hardest
of the hard core persons cannot remain aloof of its influence. It enforces much more than force
can. A kind word, or a kind look, can do wonders on those upon whom coercion has been tried
in vein. While sympathy invites love and obedience, harshness provokes aversion and resistance.

Sympathy glorifies humanity. It is synonym of love. It enables us to help the sorrow -
stricken and the oppressed. Wherever there is cruelty, or ignorance, or misery, sympathy consoles
and alleviates. The sight of grief, the sound of a groan, hold a sympathetic mind. Sympathy
and justice have eradicated very many evil practices of the world, be they abelition of slavery in
America, England and France, the uneducatedness and ignorance of the people or the
backwardness at the lowly people. The sympathy that the great people had, could only bring in
the improvement for all these.
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37. ST gHUTIET AU HENATe SIa weEa] 3% Wi HRvr -
(3) ISl BSATH Y HIUAME! GOAT FRlaad HEralEay gE S EIns FTEe.
(b)  TETE BT & HIE I= G ¢ HAF G AR, '
(c) W& e YHe U=t fde frafquamed s Il
(d) wEAYEI A 9 U9 HN B e yeham.
At S

(1) (a) 30T (b) (2) (a) =T (d) (3)  (a) & () (4) =howd

Autocrats will be able to rule more successfully with the help of sympathy than with
cruelty because : .

(a) Sympathy has the capacity to touch one’s heart more than anything,.

(b} Their ‘"don’t care” policy is not a correct policy

(¢) A kind word goes a long way in establishing control

{d) Sympathy brings in love and obedience

Answer options :

(1) (a) and (b) (2) (a) and (d) (3) (a)and {(c) {(4) all the above

38. WM ® SRS WIS T BT SR 7
(a) BT FILTETH SESA STV ¥ ATa.
(b) SIS W WEHT FvArE ¢ U I .
(¢) eIl Bwiawdl a9 HI0 AT T B
(&) DNERN FRrdl grEaear® Ao St w4 TSE Tk,
TR IW
1) (a) (2)  (b) T (c) 3 (@ () (a) S (d)

Why is sympathy one of the great secrets of life ?

{a) Because life is not possible without it.

(b) It is the best way to establish world peace.

(c) Tt is possible to rule over ignorant people with it.
(d) A little show of sympathy can win over people.
Answer options :

1) (2 (2)  (b) and (c) (@) (4 (4) (a)and (d)
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39, WEMHIS '2aRg fan’ (GR{ smiaR) T8 #1 oo o ?

(1)  FRu A ATE AR s e,

(2) R AD UMY FEIYET STORET A,
(3) TS U 7 OIS TS <.

(4) OO FOEE TR

Why is sympathy a twice blessing :

(1) Because it gives to the giver extra fruits

(2) Because it creates double sympathy in the giver
(3) Because the receiver blesses the giver

(4) None of the above

40. WIS TV TN THAT WY VHA B -
(a) FRIYE! ! Al 3.
(b) ST Twhal @ SETS SrhhedrTEl TE A 3R,

(c) U™ T HIA FATE IAG HIHY T WA 2 7.
(d) e & Yriqar ATt ST Fergd & A1 THA 4.

qafe St
(1) (@ (2)  (a), (b) S (<)
(3)  (b) I () (4 =i

Sympathy can help in uniting the world because :
(a) the scope of sympathy is wide
(b)  unity of the world is a part of public philanthropy

(c) it endeavours to alleviate all without discrimination

{(d) it unites us in a bond of peace and brotherhood

Answer options :

1 @ (2} (a) (b) and (c)
{3) (b)and (¢ {4) All the above
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41, TS HEl AR T ALl e wwe -
(a) I DRI F YT HeT.
(b) TR B-GEWAT A1 A TUT WG FHEOA Slehi = AR W@ 37 T,
(c) TR Bl Dhmeaon el favama sraa!.
(d) WEFPE = 91 39 Mo a1 we wigha Frede orn e s {geerg g
Tt I
(1) (a) 2 (b (3)  (b) 3T () (4)  (b) =nfor (d)

Some of the world’s evil practices were eradicated due to :

(a) the capacity of some people to understand the problem

(b) some men and women put themselves in the place of those who were at the receiving
end of the practice

{c) some people believed in public philanthropy

(d) some people believed sympathy and justice were the answer to the problem

Answer options :

1) () @ ® (3) (b)and (q) (4) (b)and (d)

Y99 hHTh 42§ 45 :

FHISTIIES, MAGS ISR, dwag S0 qHeemy SR § ' ud’ a1 deer=n e s oeuE
HISAW, WAGHG AR WE g6 st 1, T HeH 0 6 A 3 3 vesid wiew sHed
Jfest STHIE O SR Aadl,  wara AaE A wen #Agq. v feg srgean eidt e,
TSGR, W STl {ISE S oS THA, Tl STTHETA S9cdTST 1 79l 7 & Fd 2 al al
ST HERRIQ, FIEI. SEMIOTIR o1 YR, @ uAde au-grani, |oeh e Sadie
B A1 S 9 i g, W Y9, TSk foad QUdl Fed. FIeR Ml qag
TEWMA G AEY B, A6 WS gEd, auH, i sfae. W waeE el o e
BrvamrrE faemyuisar stad. o R ?

HITAT Hade@= (ol GLis Arned SEeE AI0Eel 90 4o, d69a9 a1 gRae 39 S
M, § V] eSTEl AT A S S0 STHO- 3908 g9 SIHaHT Wgd "IV el 3T9e,
Foag e, drdl AUE S AT T, QEdEl A GRSl Staayde 7 oge, 3Hd, T,
FHIT SV IMvad AR Al Wi T0id @@ Fod T84, Sted[aie augd- = G Wy, 24
HFE! 9T T S I7HS Nies, 38 A VES ST, B WIHEd W) ga it st 91 gt
TS 31, TN Faaie] S Wiacag] viies,  eaEde favarg fa, ggd ®uiat 9 &1 971 9t fram
TV SRV FAA, doaT EAE 9 TR Y s sgaee {dhen qel wusE g, w3 s
AL WIETHT 3¢, 1 AL HIOTIET YO B, €dqed gAtael YURo 2, a1 o9 - g frafo
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ey ST T T S ?

(R) ¥d TIa areal.

() AT ATvTHIET FUaE .

(F) yui= He™ AU O[ vHieEe 99 i s,

(g) ud fHa s

gt I

(1) (30 s () 2) (@) o (©)

(3) (@) st (&) 4) (&) &l ()
43. Y AU HEYET HE R F e A

(37) FRw 9 yafa frsar Sadt anfn € Fere e SEyae #1d,
(%) v A fesrEH TeEl.

(F) SN 9H YW TS S 9 30 3.

(%) *Ru g9 g HgId A

qgidt I

(1) (&) 3 (F) (2) W (&)

(3) (30 sl (=) @) (30, (F) anfv (2)
44, TS SEHS WOEG FIEH i 3d 2

(1) I TGS ST WY 38 ¥ 1 oo,

(&) SO ATl 0 G R § AT o

(F) SR T Jo vl giteoss ai=vR A& & e Fed.

(T) FRO SO FHHAT HIOE T ATgE] HT FEAE AT F Glfesl & AU Fed.
gatdt I

(1) (31) mfw (=) (2) (=) sufn (F)

(3) (=), (F) & (F) (4) (%), (%) anftn (€)

45.

HIAHTY HIOHTST 9 F8UIS & A 1 HIG o 7

(3) FRO ' gH’ A Heheqd@l TE B THA.

() FRU g9 =M TF FIF WU SRS STHql.

() gaiar = A Tl

(T) v U S A SO YU SR T O 6.

Tt 3T
(1) () & (F) (@) (=) anfor (=)
(3) (=), (&) i (F) 4) (30, (3) = ()
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Question number 46 to 48 :

Is India becoming a proponent of apartheid ? Not apartheid based on race, but on
gender ? The recent proposal to create special banks which will cater only to women customers
has created a controversy. While the ‘women’s bank’ has been widely hailed by many as a
socially progressive idea in that most women would feel more comfortable dealing with other
women in a women-only situation, there are dissenting voices which say that such proposals,
well-meant though they are, will serve to further ghettoise women in an already oppressively
male-centric scheme of things.

Proponents of this point of view argue that what is needed is not to co-coon women in
protective environments specially reserved for them - be they in the form of ‘ladies’ coaches in
trains or in the Metro, or ‘pink’ auto-rickshaws meant only for women passengers - but to
enable them to share common public spaces and services with their male counterparts without
fearing for their safety.

"Women's only” banks, and similar facilities, isolate women from the social mainstream.
Such discrimination, as well-intentioned as it undoubtedly is, constitutes a form of apartheid
based not on race or skin colour but on gender. At best, it is like the ‘equal but separate” policy
that some southern American states followed, whereby ‘coloureds’ and white people had
segregated schools and separate seats on public transport.

In effect, this is another way of saying that the ‘solution’ to violent gender crimes like
rape - which is a horrifyingly everyday occurrence in India - is to lock up women in the safe
custody of their homes and not allow them out in public. The response to such ‘solutions’, of
course, is that it is not the presence of women in public places which is the cause of rape but the
predatoriness of men, who are the ones who should be kept under lock and key where they
can’t do harm to anyone.

The only real and lasting solution to crimes against women is to stop discriminating against
them, even with the best of intentions. Instead of being ‘protected’ from men, women want
men to be educated - or rather, re-educated - on gender issues so that they no longer pose a
danger to women. '

It's a long-haul solution. But it’s the only one that we can all bank on, women as well as
men.

46. Women's bank in a way :
(1) Protects women all around from being oppressed
(2) Emancipates women from the clutches of men
{3) Confirms and perpetuates male dominance
(4) Gives economic freedom to women

47. “Ghettoisa:
(1) Place where marriages take place with or without the consent of women.
(2)  Custom where women live in slavery against their wishes

(3) Place where people of a group live in poor conditions

(4) Place where the undertials are tormented by the law enforcing agencies.

48. What would women want ?
(1)  Special protection
(2) Men should be kept under lock and key
(3) Parity with men
{(4) Economic freedom to get fully emancipated
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Question number 49 and 50 :

A terrible combat ensued. The shark had seemed to roar, if I might say so, the blood rushed

in torrents fromits wound. The sea was dyed red, and through the opaque liquid I could distinguish
nothing more. Nothing more, until the moment, when like lightning, I saw the undaunted captain
hanging on to one of the creature’s fins, struggling as he was, hand to hand with the monster and
dealing successive blows at his enemy. Yet unable to give a decisive one.

49. ‘A terrible combat ensued” here implies :
(1) A battle between the two sharks ended
(2) A contest between the captain and the shark ended
(3) A battle between the captain and the shark followed
(4) Warfare between the captain and the shark concluded

50. The writer describes the captain as .
(1) scared (2) angry (3) disturbed (4) fearless

51. Wes=al 91 Hied 3719, %edl, o @ W & % WIOW! 3Ted. o7ial T hedl a1 Fesiel HeA GHN
e, fag b= e oTRd. W= 9@ fag @ et faesd diom=n Wed=m 3/4 Taet oM. o
Fed AeT 1000 % 3ed T od W 9 fag ai=t sy we 5t 5o ?
(1) 320, 360 (2) 360, 320 (3) 120, 360 (4) 160, 320
Three containers are filled with mangoes, bananas, chikkus and pears. Mangoes and
bananas are equal in number. Chikkus are double that of bananas. Pears are 3/4 of that
of chikkus and bananas together. If total number of fruits in three containers is 1000 how
many pears and chikkus are there ?
(1) 320, 360 (2) 360, 320 (3) 120, 360 (4) 160, 320

52, /A B WA HIVCAE! SATHIIE HIEel T8 =l HY AR, x+5 A Y] B Hohd HIOE SRR

FES T T 7Y AR, 2 Y x 07 oy A7 Hem . W oo it g fadt 2

(1) 425

(3) 58 4) 18

A symbol /2, drawn to any size, means x +5 and the symbol | ¥ . ¥ | drawn to any size means
2, where x and y are numbers. Then what will be the value of the given relation ?

TAQ

(3) 58 ) 18
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53. 200 A &l T oM ael 48 Tt 3T Sewider Iy AHSTIT AVl IR FA.
ade soedl fagm anft 60 fedt S St 150 Wiek Sidi= MEE! & WS 9K %10, o1
TH WSHH T HIOTE IR RIS STV doid fhdrsn ek g4 ?

(1) o faf= (2) Lty 3) %ﬁqﬁz 4) 6 9&g

4
A 200 m long goods train crosses a man standing on the platform at a speed of 48 km/hr.
At the same time another goods train 150 metres long crosses that man at a speed of
60 km/hr in the reverse direction. Calculate the difference between time taken by both
the trains to cross the man ?

(1) 6m (2) _}Im (3) =-m (4) 6 seconds

54, UFH Y GENH AAH Tegl VEE U e gAYE WM @ W9, et d 93 @ SsSe T
greia T fafie e =afen daifad 0. @ 3179 %E Ko mifed 3 garsmr=n
w1 fooe aTed.

e — NO, GO, Fit, COUNTER, FORCE, 1, TURN, NET

9= [ — I, NO, GO, Fit, COUNTER, FORCE, TURN, NET

T 11 — 1, GO, NO, Fit, COUNTER, FORCE, TURN, NET

rad 1T — I, GO, NO, Fit, NET, COUNTER, FORCF, TURN

WA IV - I, GO, NO, Fit, NET, TURN, COUNTER, FORCE

Tl V — [, GO, NO, Fit, NET, TURN, FORCE, COUNTER

ST T “Class, Rat, An, UP, PEN, TRUE” 318& &,

“An, UP, Class, Rat, PEN, TRUE” 2 SV 9radid 4da 7

1 1 (2) 1 (3) I 4y 1V

When a line of words is given as an input to a word-processing machine, the machine

rearranges the line in a step by a definite rule. The input and the steps of re-arrangements
are given below :

Input — NO, GO, Fit, COUNTER, FORCE, I, TURN, NET

Step 1 — 1, NO, GO, Fit, COUNTER, FORCE, TURN, NET

Step 11 - 1, GO, NO, Fit, COUNTER, FORCE, TURN, NET

Step ITI — I, GO, NO, Fit, NET, COUNTER, FORCE, TURN

Step IV — [, GO, NO, Fit, NET, TURN, COUNTER, FORCE

Step V. =1, GO, NO, Fit, NET, TURN, FORCE, COUNTER

If the input is, “Class, Rat, An, UP, PEN, TRUE"” then,

“An, UP, Class, Rat, PEN, TRUE” will be in what step ?

(I - ~eo(2y I 3y 1II 4 v
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55. UH fohehe GalgH! dg HERUAT TG 24.85 UTET Wia fashe Tl U TEHed M 52 €@
&5 5 Toaehe Smem. SHG =T 9 haTEE WAl 0.85 THET FH o9 @ Sifag 7Y
Toovarqd| = Saeed fakaet Tean fodt 2t ?

(1) 64 (2) 72 (3) 80 @) 96

The Ealling average of a cricket player was 24.85 runs per wicket. In a match he took
5 wickets, giving 52 runs. Then his balling average got reduced by 0.85. Then how many
wickets had he taken, before playing the last match ?

1) 64 @) 72 3) 80 (4) 96

56. O, P, QT &Y T a¥id 69 Tea. faffw wm Toeew o1 Sy g mie arad,
(a) T T T @, v 9 fEe R,
(b) R FEAl T BT, TSI A Gl L.
(c) IO HH UK T TR,
(d) 9 O = wurEl 1 e T,
(e) H9 P =1 Har= i e T
("= QA HYE T qied A,
() T= Q=1 gufi=n 1 2% TN
(hy FF O a9 vigd AR,
T P = 99 9 warer HAlehd T vl ?
(1) 9l a o 2y foae 3 TeEt
(3) o9 Tied (4) Tl g faee

O, P and Q are three sets of ‘cup and saucer’. Read the following information about these
sets which are not in any particular order :

(a) Cups are blue, white and yellow in colour.
(b)  Saucers are red, pink and white in colour.
{c}) No set is unicoloured.

(d) Cup of the set O is not yellow in colour.

(e)  Cup of the set P is not blue in colour.

(f)  Cup of the set Q is not white in colour.

(g}  Saucer of the set Q) is not red in colour.

(h)  Saucer of the set O is white in colour.

What are the colours of saucer and cup respectively of set I’ 7

(1)  White and red (2)  Yellow and pink
(3) Red and white (4) Pink and vellow
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57. (a)

(b)

(d)

(e)
()
(8

36 A

P,Q,R,S, T anftt U % ae faen=t ana, & d7arTean fowamd yesge Yeaat eadd Hhild
FAM 3Eaio S .

T S W0 AHAIEN Uedw, S ST U Ugad ST 6fa Y Sraree s
EA.
R ST T TR S T ALTGT A

glaerar Seggs sy faendt smuear o ved) et Wifeas = arvaem o famnat 9
TR VA T&d el

T "ioars TS Hifawuas swgd =l

U anfor S sadlee Tedn.
T 1 e o[ Wedh anfon Q vt S TRy,

W ESHFUET FHIOE ST FU A6 7

1
(@)

(b)

(c)
(d)

(e)
®
()

U-3iers (2) P-Eust (3) P-Usm e (4) R4 W

The six students P, Q, R, S, T and U are studying different subjects at post graduate
level. Their subjects are English, History, Philosophy, Physics, Statistics and
Mathematics, not necessarily in the same order.

Out of them two live in hostel, two live as paying-guests and remaining two live at
home.

R is not paying-guest and studies Philosophy.

The student studying History, lives at home and the student studying Statistics does
not live as paying-guest.

T studies Mathematics and S studies Physics.
U and S live in hostel.
T lives as paying-guest and Q lives at home.

Then which of the folowing pair is not correct ?

)

U-History (2) P-English (3) P-Paying guest (4) R-at home

58. Y=l SRl T yaliy fae,
S Audio =85 3T8S, Video =80 378, T Radio =?

(1) 88 2) 83 (3) 47 (4)  ATHRT RIVRE T
Select proper alternative in place of the question-mark ? If Audio=285, Video=80 then
Radio=7?

(1y 88 (2y 83 (3) 47 (4} None of the above
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59. A, B, CD,EFG,H ]3] % <@ 959, X for Y a1 < Sms fGures Rd. T
Ted UTE 4 HRA. Sl S SEEIAT UHIEH R S UiHES 38 aaiaes I % X e
T TS U 9HR Y 39 U Heeg AR 9 9] e THHEhe emed. ‘X ==
HewiE! die 39 f¥ien 3Rd. D, A =01 35 Tauq 1R it G =41 UheH §HR 99T 318, B,
G =41 Ahedy Soaishe TS 1R 101 <" 491 <fafiies 2. H, B =31 Sedihe fauq v
F <A1 UeheH TR 6T 3. C & A S0 E =1 7edl S [ =41 96 98T 3R,

WIHGHSR] HIVl 6 g THS T J50a@! 31T ?
(1) HIE (2) ACB (3) CDI (4 HIG

The ten members A, B, C, D, E, F, G, H, I and ] are divided into two teams X and Y. Five
members are in each team. The members of both the teams are seating in two rows, such
that, exact opposite of each member of ‘X’ team, there is a member of Y team facing each
other. The members of X’ team are facing North. D is third to the right of A and is
seating exact opposite of G. B is immediate right of G and is facing south. H is third to the
right of B and exact opposite of F. C is between A and E and exact opposite of 1.

Which group is seating in the same row ?
(1) HIE (2) ACB (3) CDI (4) HIG

60. T TiEa ugW faeneatea 35% faamed fe<t = fawama sl oe; 45% famneff Susiia st
S 37T 20% ferenef A= fawam il wow. W ww faeneaten dehen fadt et
o 3l 71 ?

(1) 10 2) 20 (3) 30 4) 40

In an examination, 35% of the total students failed in Hindi; 45% failed in English and
20% failed in both. What percent of total students passed in both the subjects ?

1) 10 @) 20 @) 30 4) 40

61. HUH AV (& akdl fedean yataimym faen

B DD EW  (lU FIL D
W B E w T ?
E Uy  w|F DD LF Ul

a v @ | v @ Lt @ [V

Select the figure from given alternatives, which will continue the sequence :

B DD FW UU FL D
W B L w T ?
F_UUu wf DD Lf U
D T U T b v roF
1 | @ | p @ .t @ |
U T T _F E T L D
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62. HIVE THUT TGS TH A WO Kot A1 A3t We A i o AemeE S e
I <dTd. ATES Teh I A=Al qeAT Ui S 9 T8RS THoedl qeard aviT 1.
FieATdeh] THSTOT 91 YIS Taiay g7H 3T, W0 A1 I e (S SO 2rsg
g Treefavame! gt 49 o e, @ fewmi TR el BEd S9T T e
R HiH SH! GRS Aeeed]. AT <l W&d: w41 JeaTe SrTgs Hid 2. Sia gl sl
& %ot de @il e i e,
3T e, |} AT U NS, I A TS A% uUiy e
o TR, % AT e A, 37 Mendie watn agEi o,
=T FEuTe, T FETE aeATeT SIel S AR, W Herad gy .

WWW@W? .
(1) &3 o @ AR (2) o fohen s
(3) w® ATHgT (4) H ITHEA

In a small village in no man’s land, brains of people are wired to answer inquiries in two
sentences. One of the sentences always describes the fact as it is and the other describes
nonexistent thing. One among them is the best archer of the area and you are there to get
some tips from him for developing your archery skills. On reaching the place you find
three persons sitting in the shadow of a banyan tree enjoying gossip. Two of them were
busy mending their own arches. When you started inquiring with them, their responses
were as follows :

Aanu said, “This is my arch. But | am not the best archer among us.

Banu said, “This is not my arch. Aanu is the best archer of this village.

Chanu said, “I never touch the arch. Banu is the best archer”.

From whom will you get the tips about archery ?

(1) From both Aanu and Banu (2) From Aanu or Banu

(3) From Aanu only (4) From Banu only

63. UH (ISUERd 8% HASRIA! TagH % . o1 Fesvi w  ae IHgar ga. Feed smoen
IHTANH TE Hell1 48% Hd THegT @M 1100 HalAl gH=11 SHSARE qu9d ol T Hasvhid
T R el g ?
(1) 21000 (2) 23500 (3) 22000 4y 27500
In an election, the voting power was not used by 8% voters. There were only two candidates

in this election. The elected candidate got 48% votes, out of the total votes and he defeated
the other candidate by 1100 votes. How many total voters were there in the election ?

(1) 21000 (2) 23500 (3) 22000 (4) 27500

64. TN 60 THIL. AT T HHARS doddl Yigwd. R AT 20 R A difae W U a oast
e, @ ARG THU fohdt sfdt shrd ?
(1) 240 fe.=t (2) 250 Tl (3) 260 fep. 1. (4) 270 ..

When the speed of a monorail is 60 km/hr it reaches on time. If the speed is increased by
20 kms it reaches ene hour earlier then how much distance does the monoratl cover ?

(1) 240 km (2) 250 km (3) 260 km (4) 270 km

oed] /MG IR /SPACE FOR ROUGH WORK
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65. @5, * $ M % It Wiasl=n A [Rogam sEvan TSt TR,
P3Q =1 319 3TR, P, Q &7 @M EL.
P+Q =1 A9 3%, P, Q V&I HIST RN :
P%Q =1 314 3R, P, Q V& [T R SITﬁIQQ"q'GT?I‘é‘T
P$Q =1 319 TR, P, Q V&N TBH AR A1 Q e TR
P@Q = 5 TR, P, Q Ve Hiow! TE! ffhar Q Yan werE! el
feow fawmim g OrA, @eEd weee 91 TSR 1, 11, 111 fe! fafequs sy |
SR/ © MYT AR IqES! A 941 FHae,
faeam : BN ; NoF; F*H -
e I-H$N
I1-F%B
I -B%H : L
(1) &® 1 a7for 1 9 STRd 2) 1 M 1] 9 TR
(3) W 11 3T I §ed 3TRd (4) UwE wE
The meanings of @, §, *, $, and % are as follows :
P3Q means, P, is not less than Q.
P*Q means, P, is not greater than Q.
P%Q means, P, is not greater than Q and not equal to Q.
P$Q means, P is not less than Q and not equal to Q.
P@Q means, I’ is not greater than or less than Q.
Considering the staterments true, which of the conclusion/s L, II, Ill is/are perfectly true ?
Select the correct alternative.
Statement :B%N ; N&F ; F*H
Conclusion : I-H$N
I-F%B
I - B%H
(1) Only I and II are correct (2) Only I and III are correct
(3)  Only II and HII are correct {4) No one is correct
66. A=A ST AT qAE et
16 12 17
22 | 18 | 15
19 | 15 | 16
35 | 27 | 72
1y 19 (2y 29 (3) 33 4y 32
Select proper alternative in place of the question-mark.
16 | 12 | 17
22 | 18 | 15
19 | 15 | 16
35 | 27 | ? e :
1y 19 (2) 29 (3) 33 (4) 32
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67. WG 9" UsATEl, Y19 g9 S ] oramd [qoo! 2T,

=3 —»
A B C D E
iy
2003 156 | 226 | 184 | 166 | 242
2004 16.8 | 208 | 192 | 182 | 238
2005 188 | 242 | 198 | 178 | 258
2006 184 | 264 | 208 | 198 | 264
2007 202 | 282 | 226 | 224 [ 282

T A i B e, wd awi=n TUEd eedEd, T, C, D 310 E gt w4 aai=a sl
DIFREERN ATFH THT FH ?

{1y 51:82 (2) 53:81 (3y 52:83 (4) 53 :85
The population of five states, of five years, is given in lacs, in the table :

States —p»

A B C D E

Years v

2003 15.6 22.6 184 16.6 24.2

2004 16.8 20.8 19.2 18.2 23.8

2005 18.8 24.2 19.8 17.8 258

2006 18.4 26.4 20.8 19.8 26.4

2007 20.2 28.2 22.6 22.4 28.2

What is the proportion of the average population of all years of the states A and B taken
together, with the average population of all years of the states C, D and E taken together,
respectively ? H

(1) 51:82 (2) 53:81 (3) 52:83 (4) 53:85.

68. Tooed =aRe Avmd sed efefEd Yeodio FAW JUl Yeis 98 T
F@53R$JPE1H %IQ4B8AW2UGE*93ZNMOV
5R] ; 1%Q; 8WU ; ? _ ‘
(1) B8N© (2) 697 (3) *M (4) *3N

Learn the system and find the next term in the given series :

F@53R$JPETH %IQ4BSAW2UG6*958ZNMOV

5R]; 1%Q ; 8WU ; ?

(1) 8Ne© (2) 697 (3) *8M (4) *3N

FHeeHl HIWHRG ST /SPACE FOR ROUGH WORK
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AT AR FREET o <aaen 1 AR § eul. o o AENET gaid aree
Hi@aX T IoEhgT faay HaR Hod 2

1 A 2 C (3 F 4) I

From the following alphabet triangle find out what that system is. On the basis of the
system, which is the third letter on the base line from your right ?

C (3) F (4) ]

70.

TR0 ABC 81 ¥HS 5101 318, T OBC 81 Hfgy s Haiv AiE. S «BOC #1100° T 35§
ZACO et @ ?

B A C
(1) 20° (2) 30° (3) 60° (4) 45°
Triangle ABC is an equilateral triangle. Triangle OBC is an isosceles triangle. If angle
BOC is 100°; then how much will the ZACO be ?

A
£
>
B \C
1 20° 2) 30° 3)  60° (4) 45°
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71. W THARE T A, W AT T §C G, A A e vw 6w geEme

YEie JHl TETS .

|t LG
A AT - BB
T - PP
R DI - WW
T e 9 TH 45 - WB
TF TSNS F TF 4 - WP

VAN 91 T Seed I YR IEafaS F, HIVER SeAmed q gt T, 59 Sew |
S AR, S WB 3101 PP 90 #1900 T4 3HES MM @i IR aigih] HIVKE qedis
THo at WW 318 S90 4] THa 70T 1 S9T=1 9edid Sivd f9a9 9 89 ?

(1) VR o6 T THS (2) s 9% US@ AUS
(3) T W ¥ IO (4) TH A T THO

There are five similar boxes, having labels, indicating the description of the items contained
in them, as follows :

Items Labels
Two Balls - BB
Two pens - PP
Two Waiches - WW
One watch and one Ball - WB
One watch and one Pen - WP

Some one has changed the labels on all the boxes, such that, no box contains the items, as
per the label on it.

If the boxes with labels WB and PP are opened and no item is watch, then which statement
will be true in case of the box, having label WW ?

(1) No item will be watch (2) One item will be watch
(3) One item will be ball (4) One item will bé pen

72. A, B,C,D,E, F 3G UH 2ard HEEF 324, A IR SR 3T 17 1o+ 3Teq, T
< F 1for G q@ 3TRA. A ST D ¥ 913 374 A SR 378, E U 3MTa 3TA S Wiaida!
T faargeg T E @1 <9 319 2Tied. B, D Wied foanfed ong; snfn G & o0 R, @
C HIT &R ?

(1) AT9Em (2) E=t Al (3) Fdagim (4) G= 9=

A, B, C, D, E, F and G are the members of a family. Out of them, four are adults and three
are children, of which two, F and G are girls. A and D are brothers and A is a Doctor. E
is an Engineer and has married one of the two brothers. E has two children. B is married
to D and G is their child. Then whois C?

(1) Sonof A {2) Daughter of E (3) Father of F (4) Brother of G

THoedl SIS SR /SPACE FOR ROUGH WORK
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73. UH HM YU T Heol AeAUE 10 foow F4 orad. | a9 wH wUael S@H AT
15 feaw s o, SR &R anftn sterg <ot e § v 12 feawia ol & otwdie @ de™
T Hewen € s gl e fedt foaw errdie ?

(1) 10 feaq (2) 25 feam (3) 27 feaw (4) 18 feaw

Kabir requires 10 days less than Akshay to complete a certain task. Satyam takes 15 days
more than Akshay to complete the same task. If Kabir and Akshay both take 12 days to
complete the task together how many days will be required by Akshay and Satyam together
to complete it ?

(1) 10 days (2) 25 days {3) 27 days (4) 18 days

74. TR AT ST Tol TRIEHT S A {Aews IR qol SHeaHS 93 e
ST TR Rl AR, WA Rateaidl S ferdt it e 9 faet areeda ned
& Yhd TG THE fd7 TSl s dR. 78 18 $00 7

(1) ol Tgeeed w87 fior e oo soaEEt aam £ 9 R et
YIS,

(2) A ASEEE FIYH WGl HaT HUS.
3) foon Heifaa favrmes TR Aikfawrg dime.
(4) IerE A SESeRT A J0 SRR HUarE .

You as an administrative authority have been approached by a house wife of a
well-established entrepreneur complaining harassment for having two daughters. She
also informs you that her parents are not financially well off to help her in this matter.
You would :

{1} counsel wife to empower her to face the situation and wait for the result
(2}  arrange counselling sessions for the couple

(3) ask her to lodge a complaint with concerned department

(4) ask wife to make husband’s behaviour public through social network

THeed] wIHHIG! AR /SPACE FOR ROUGH WORK
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75. TG ¢ WEAN TR A0 IIHS T&E Farhs Weoded STEe Al 9w fesa
FS IR, HROT FgATI IS 07 Wl ATsAyearedn faeda Hiesgd AU §-whie Siq IvETd
e  Tfid aieam B sam. 91 WS Sifadert, arn Som asfead snftn IsF g
ST SRR Tu wiass St 38 e A UK. IHYH TeTs TR 3itd
. TEG: TTATTST AT IS Salecd™ ot Hied Gardl UF Hee=] a3,

Y AT 0T Wared A drRud Wi 9fom 29 SR Heed SHen-a e
TTHIOT FZATE G 60 <ok AR T AT 60 THFTIH! 50 THF MG Tt a9 w3dia. a1 ST9ams
FRO | FIRGS Sd o FTH Y, TEATS WioTod FeEH R § St Qi sga e
YiTEATET At T hedres O TR gumATeTea SEEEEK SR S a1 i el e
qra SFIE IR, TS TER Sihiaar JAREmE) e fdid sevashar SR 19 ared.

U9 : T RIS AV Ok SFfdl SN @1 9R FHIvgTd Wifaedd @Hed TIHm=Tshr{ar
(a) Siaregr e e SHeaEt ik S ARRATERe Qo S Iy St

Bt |
(b) TERlE WS FEETeT TR el 350
(c) W] wieesT, favivm: Afgor=t wfawer Taa ¥
(d) T SUTEEHAT 9 NfHTEE N o0,

TR I

1) @ )@ (@ @ @@ b d @ 6@ & @ b)) @
Situation : Government has formulated a policy to ensure that each family in rural area of
the State should have a toilet as most of the diseases and epidemics are caused due to
e-coli found in human excreta carried through the use of contaminated water. The loss
of human life, mandays wasted and the loss of wages due to these ailments and expenditure
required to be incurred on the treatment is enormous. The embarrassment to the female
population is another factor, so also the village environmental pollution caused. The
Supreme Court interpreted Right to life means life with dignity. In fact, human excreta, if
treated scientifically, is a rich source of organic manure.

In spite of these provisions and severe consequences the percentage of rural families having
toilets is only 60% and out of these, who are actually using the toilets is only 50%. The
failure is ascribed to the fact that toilet policy is “Construction oriented” and the element
of educating and sensitizing the people as to the adverse effects of the non use of toilets is
squarely missing. It is felt that a strong public education campaign is the need of the time.
Question : If you are assigned a role of preparing a public awareness campaign, which
of the followmg elements you would incorporate in order of priority In the design of the
campaign :

(@) Regular use of toilet reduces health hazards of open defecation.

(b) Maintaining the ambience of the village.

(c) Maintaining the dignity of the human being, particularly women folk.

(d} Boost to farm productivity and economy

Answer options :

1) @ ®)@© @ @ @@ b, @ ® 0@ @ @ (@b @
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Al 3 Wil Se9 o 91 auidl S et SraEet e FwernEl es

FAOATH] STSEE IR 3le. 98d YE STH00! U HIa HohRE] dod WU a1 Hihdr

s A, A1 o Rregdiaet=h qaifen At srsmearn aiden g U Wesd qae

BEIE UM {0 &1 ST hThR € I U FoTdrre Geidio SAied o @ren Jiel faemeat=mn

HroNdie AR, Tl i e 2

(1) oL Ao 9 i Fee JevEEa suadEt @ g fFey s s
fad! 7w

(2) o Feie fread fHeceaiamEs T @e J Ao W Fad Thd IR HUs.

(3) WAl deFle T SLad = %M ierey Te1 9iHdiet WA F:3e.

(4) HeAT=N Wi HE GEHA HAled AT6l HIUAHe] droed q@ el H:faen w5 e,

You are a government representative and a member of a committee that has been given

responsibility of selecting young artists for awarding two year government scholarships.

An influential artist of high reputation is also a member on this committee as an expert.

After studying the shortlisted artists, for this prestigious state scholarship, another member

brought to your notice that many artists are from the institute that is managed by this

reputed artist or institutes that are managed by his past students. You would :

(1)  talk to the artist and request him to make selection criteria public for avoiding biased
selection.

(2} maintain silence with respect to selection of awardees of this year and then publish
the misdeeds of this person.

(3) halt the work of the committee by dissolving it immediately and form a new committee.

(4) request all the members of the present committee to go through the original list
again and with unbiased approach freshly shortlist the candidates.

77.

TR g HEThe HFd W TE ARE. S STaTed] Sl T@ el Jallvs
IO S STITIeAT AGde SIRIed FEHTT THEd ed, 3790 debl T

(1) <l S Yq@HAl Hesh HL0ATH Tl ARV TIe.

(2) TRl S YHEAT Seed e wadd! Siev gF w0,

(3) IR AR WEAT AE e ST AT faaye s e Faedare.

4) R ANSiERS e (B0 STRNIE 9 a6,

As an administrative incharge of a communally sensitive area, you are faced with a

situation where the religious heads of both the communities have given inflammatory

speeches thereby inciting violence amongst their respective communities. You

would :

(1} immediately order the arrest of the two religious heads.

(2)  call both the communal heads together and try to broach a peace deal.

(3)  call both the heads individually and do some “humble talking” with them to explain
the situation

(4) report the matter to your superior and wait for appropriate instruction.

Theedl STHTETST W /SPACE FOR ROUGH WORK
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78, Widkerdt : 1973 HioaT WiWor §8Rle A0 I8 2012-13 T+ TUEd TGS g5ale I U@
oA Tl 3TH1 &1, 1973 WO SR STAUTATET a1 A5l THIOME 2t @l 2012-13 Wed
it gl SUTed el S @ fad FfEa e Tweam WA Sod TR, WY wie §gd
Uit TGS AR AT AALE, FONRE T THES TSuUe o o™ arReary &g
R TR gea e Eie. A gE SRudd ®4E el mEel Siad S €9 g6
HIBHA! IR,

Wy ; 3790 uifeerdta g qraeE afifterdt et TeeeR] STUTER SEITE Weaas 3ot

ST AT WL SIS 3T,

(a) Td WA ST WISRT Qi 1S Fed fquareriiar TgA 3o,

(b) Vw-T=A e {96 A A e T g3, 19, a9 quaren g W geT
Il STrell U IToed U a1 ST arEiEret 50-50 Tah FeY MEsT H.

(c) T IqFH-TH IAEA THEF FHid TR JUR STHEN S0 Wre 4R i giom
AT S SHRATS T <7 TYH AT dde T vidisda e FI01,

(d) T e dane S ST SHT SIVER! YA Teed THrafTE Igid uIo gar o
TR ARFATES gy faamd S, I F eEuda IrRvaTet Hiedied <0, HR
el 9 A fehedrd A9 TMer FIST JUERE IUER Fdl I50.

g W
1) (d) (2)  (b) 3) (@) 4 ©
Situation : One major difference between the severe drought faced by the State in the
year 1973 vis-a-vis year 2012-13 is, where as there was a food scarcity in 1973, the year
2012-13 reflects acute water scarcity. Thousands of villages do not have even adequate
quantity, forget appropriate quality drinking water. Most Rabi crops could not simply be
sown as the moisture in the soil is completely dried away. The chemnical contamination
like Nitrate, Fluoride is causing a grave concern even where water is available, which if
consumed would lead to grave health hazards. Human survival till onset of the monsoon
is the major concern.

Question : Under such circumstances if you are entrusted with a responsibility to tackle

the situation, which of the following options would you resort to, on priority to manage

the immediate crisis.

(a) Reserving all public and private water sources exclusively for drinking water
purposes.

(b) To strike a balance between farmers losing their income of Rabi Crops and also to
ensure acute drinking water needs, 50-50 distribution plan for crop survival and
drinking water.

(c)  As the poor farmers will be losing their only income source which may have severe
economic consequences, crop production will be given priority and most of the water
will be reserved for the agriculture purposes.

(d) Even taking the risk of diseases people will be motivated to use chemically
contaminated water for survival till onset of monsoon to save human life there being
no alternative as diseases can be cured in due course.

Answer options :

1 (@ (2) (b (3) () 4

Tl SRIHETE | /SPACE FOR ROUGH WORK




A 47 YOI

79. gl (A @R g@H U@ qRFSRE HieH 5 S @& gEFeRE qriie UE auidE Wi
co® e 9 o d g FEd F 0 TR 3d 3. SEMSNH gHe e ¢ fama
T0TE ATV e SN i gehMeRl WIS fHhEd 9NN Werem 50% TR, HEFERMA oAl
A= 9 HE7 Neiarhs T3 79 U o= (e svses o, oo ufifeuda gt
TS AR B[ FIVET Fodl oS 7
(1) veEme g foligm deT g,

(2) gHHRR alEow wE fSada ae wuedrE |l

(3) gH=A AT A9 % {HMCRIE HHH .

(4) fou=n=radien M fommuarar wae s¥an 19 ffhi IR HTaTden oSl wHl Ty gRMeR=
W famarian sAfyew o

Your friend has rented his shop to a shopkeeper and shopkeeper has not paid his rent for

the last one year and now refuses to vacate his shop. Shopkeeper has offered to purchase

that shop from him but only at 50% of the present market value. Shopkeeper uses his

contacts and has threatened him of dire consequences if he lodges a police complaint.

What kind of advice would you give to your friend as a police officer ?

(1) Ledge a complaint against the shopkeeper with the police.

(2) Negotiate with the shopkeeper for a higher price and sell it.

(3)  Use your power for threatening the shopkeeper.

(4)  Try to sell the shop to a 3™ party at a price slightly less than the market price but
higher than the otfer of the shopkeeper.

80. TR SEYAl A=A IIGddE] - SA AR, [ ol ST HTEl 7 HEhaa!
Tl oo, 19 9t gl G AT 7
(1) THT AquEEe o 7 20 erad = fsamlt femame.
(2) wffees it Qfed WIMel AUdmEETEd SorhHeET Aled 2.
(3) Y@ F iredl Hed ArEre J o ag9da g g,
(4) IS T iU 9Ed SUEAH TA YN HEFRo T RAT Higars
Suppose you are going for Public Service Commission’s Interview. On the road you see
an accident in which few men are stuck in. What will you do ?
(1} You will not pay attention to the accident and reach the Interview destination.
(2)  You will inform nearby Hospital and Police station telephonically regarding the
accident.
(3}  You will call Police and Ambulance for help and wait till the help reaches.

{(4)  You will ask local people to help police and Ambulance in the rescue of people stuck
in the accident.

-o0o0-
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Ol — (75 1 a6 [@....)

®) TeyfaFwe fafgs soe faftre SFi= = &M (6 I%) H0E. JeTyfasksafaiEd Soasat a1
TR HIEER F &M Foam™ § FA FIR ]UE 608 AR, 3H TS TR 9 A{IR U
AR IR e hsiee) o IRuERiAT Uiy svaEEds AfHfEm-g2" e aerER FRAR
FOEE IR0 9 S FH BTG Teh AN FHEErAl SOV T TE TR e ser e
A TS,

9) I TAUCFRERE A fafes wod de HueaHa SHEATE € eIyt @ atel TR aaRt
U V0O WA SR, WIS T8 HETETet WUATgd] SHEENH STUeaT SH e Wi- 1

TAUATehe T fSEwEr Ut 0 ATava® 3.
THAT U9
. %. 201. WdE! 96 T FAOGAST FIUT JoAd: TIH kol 7
1) Tl gare St (2 ey foEmaTR
(@) T e @) T e
U qrg IR (3) TS A T o R, M A e IW C3)) 2. arag

. . 201

GOOYHT Y9 %, 201 YARE IE-wHE C(3)" € wqe quitl wEifed w64 Trafad
S AR, .

ONON N0

AW Ugd TR FEAYahdle Tode Tl qUEl SaGRHIS & qrelel Tasien e
ITEFRAIS & A TEEHEHG Gdfid age quan SrEifed hEd grEaEn. geRtEr
ey TTodT P JeUw GTurd, UF0e ar onee o aae =4,
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e A e W (99) Tt gden-2013 Tdteren femiw 118 W, 2013
fowm:  (@WR®. 2)

TR ATHUET STERTHTGT « I Hal (&) Tret Uier-R0.3” a1 Tl Rierea SR-uriehel STRalicTe SHEaRieaT Hifediaat
HhaIBTER UTEs SH0aTd ST el TEgH SHIART SR (Authentic) TIRRIOT/ETH 5+ UISTaeiel ol o,
T T AT TR 57 ST STRACTRT YR el 3. AT ITATeThdiel It 3iqd FEsivard Idre. ame

Ittt - KEY
o . N i AN .
THHE WIA | ¥9B | €9C | ®=D WHE | ¥FA | 9B | €9C | WED
1 1 3 3 3 26 2 1 3 1
2 3 3 1 3 27 1 2 1 2
3 4 3 3 4 28 2 2 2 4
4 3 1 4 3 29 4 4 2 4
5 3 4 3 1 30 4 4 4 4
6 1 1 1 1 31 4 4 4 2
7 2 1 2 2 32 2 2 4 2
8 1 2 1 1 33 # # # 3
9 2 2 3 2 34 3 3 3 2
10 3 3 4 4 35 4 4 2 4
11 4 4 4 3 36 2 2 4 #
12 4 4 2 4 37 2 4 4 4
13 1 3 1 1 38 3 2 4 2
14 3 1 3 3 39 4 4 3 4
15 1 1 2 4 40 4 4 2 3
16 2 2 1 3 41 4 3 4 4
17 1 4 4 2 42 3 3 3 3
18 4 1 1 1 43 3 4 3 4
19 3 3 3 1 44 4 4 4 3
20 4 4 4 4 45 4 3 4 4
21 1 4 1 1 46 3 3 3 3
22 4 1 4 4 47 3 3 3 3
23 1 1 1 3 48 3 3 3 3
24 3 3 2 3 49 3 4 3 3
25 3 3 3 1 50 4 3 4 4

dt. 197 August, 2013
# = SRNTaCTeAT 9T T8 SH0T 3TTeAeT 3T,



TR .2

0949 3] P ro) 3]

W | §9A | 9B | ¥9C | €=D WHI% | 99A | 99B | €=9C | =D

51 2 3 1 4 63 4 1 1 4

52 3 1 3 3 64 1 3 4 3

53 4 2 2 3 65 4 3 3 4

54 2 4 4 4 66 3 4 1 3

55 3 4 4 2 67 2 1 1 2

56 3 2 4 4 68 4 1 2 1

57 1 1 4 1 69 3 3 4 3

58 1 4 3 4 70 1 4 1 1

59 4 4 1 4 71 2 3 3 2

60 4 3 3 3 72 1 4 3 2

61 1 2 2 1 73 4 2 4 1

62 3 1 2 1

TARET gF GHeT - 2013 W, . 74 ° 80 o UAAET U
(SRS 70T Fiferctel AATE.)
I ATTeTeRT
- A U< - B - C < - D
i AT HHE T T T T R
ERl ER ERl F T
1 21 3| 4 1 2 13| 41Q1 2 3 4 1 2 3 4

74 015125010 0 0 1 251154 O 1 2.5 1.5 ) 2.5 2 1.5 0
75 |2.5 2 1.5 0 |2.5 1 0 1.5| 1.5] 0 1 2.5 | 1.5 125 1 0 |
76 | 151 0 1.0 2.5| 251 2 151 0 | 251 2 1.5 0 | 2.5 1 0 1.5 |
7 01025015 0 h15125 1 0O 25| 2 1.5 0 1.5 0 1 2.5
8 025 2 [15] 0 Q1.0[25]15| 0 ll1.5]25 1 0 1.0 125 1.5 0
9 0251100 0 [ 15025] 2 |15 0 Q25 1 0 1.5 ) 2.5 2 1.5 0
80 0 1 |25]15¢Q15] O 1 2510|225 1.5 0 0 1 25 1 1.5

dt. 197 Avgust, 2013



